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- INSTRUCTIONS : ' I <

(3) Economics (4) History. Attempt any Two options out of Four. Each option is 0.
75 marks.

2. All questions in the Test are multiple choice questions.

3. Each question carries one mark, with four alternatives out of which one answer is
correct.

4.  There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

6.  Mark your response only at the appropriate space against the number corresponding to
the question while answering on the OMR Resporise Sheet.

7.  Marking more than one response shall be treated as wrong response.

8.  Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled.

9. Use of calculator, Mobile is strictly prohibited and use of these shall lead to
disqualification.

10. The candidate MUST remove the last Carbon copy (Candidate’s Copy) of OMR
after completion of Test.

11. The question paper will be both in English & Punjabi. In case of any doubt,
English version will be taken as final.

(Social Studies) — C II"I“I' llumm

1. Paper of Social Studies consists of Four options: (1) Civies (2) Geography S



CIVICS
L. Which Schedule in the Indian Constitution is related to languages ?

(a) Seventh (b) Eighth
(c) _Ninth (d) Tenth
T8t Afeus {9 foast 5t st o Huuz Y 2
(a) H3H (b) ndEt
(c) & (d) TRt

2. Article 51-A stands for:
(a) Directive Principles of State Policy(b)  Fundamental Rights

(co F undamental Duties (d) None of the above
SIASS=eJ :
(a) TS T fogemsfva oz (b)  Wed niftarg
(c) He® gan d) BGuIaz 3=t st
3. Under which Act ‘Unity of the Nation’ was incor?orated in the Indian Constitution ?
(a) 42" Amendment Act, 1976~ (b) 47" Amendment Act, 1984
g)ﬂ 71* Amendment Act, 1992 (d) 92" Amendment Act, 2003
il ‘THeS € BaEr § 393t Afeurs 9 A st B B ¢
(a) 42 Au mEe, 1976 (b) 47 Ay nige, 1984
(c) 715 AU mige, 1992 (d) 923 Au wie, 2003

4.  The Keshavananda Bharti Case is associated with:
(a) Basic Structure of the Indian Constitution
(b) Right to Information
(c) Federalism
d) Right to Freedom

: ITHARAGUS J |

@ IIFAfTETHTB ' a® (b IS € mifyarg &7

(c) FuREw 5% (d) BH3393" ¥ wiftarg &%
5. The Article 14 of the Indian Constitution guarantees:

(a) Right to Information (b) Right to Education

(c) _Right to Equali (d) Right to Employment

I3t A o 14 3RS ST T

(a) HE& € nifgarg & (b) fAftmor & mifaerg &t

() AHSE3 T miftarg &t (d) TS R ifgerg &t
6.  The Mandal Commission focused on:

(a) Backward Classes (b) Tribals

(¢) Minorities (d) Foreigners

H3® afiees Jefes 3 :

(a) fug3 zgor 3 (b) B TgIr ‘3

(c) WMBY-AftmEt ‘3 (d) fegdhi ‘3
7. Whatiis the condition of law ?

(a) Definite (b) Objective

(¢) Subjective (d) Both (a) and (b)

g5 S HI ot I ¢

(a) AUEE (b) wwSfex

(c) THUfsH (d) TR (a) M3 (b)
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10.

11.

12.

13.

14,

Who prefers economic equality ?

(a)  Marxist (b) Capitalist

(¢) Liberal (d) Syndical
Wrafes ANE3T § 3 39wid feer d 7

(a) MIIHASTE (b) Udet

(c) Befes (d) FuwRTE

Which language is word ‘justice’ derived from ?

(a) Greek (b) French

(¢) Latin (d) Japanese

Hee ‘justice” fam 3 3 foor famr 7 7

(a) = (b) 39

(c) Sl (d) TSt

Which state the DMK party belongs to ?

(a) Tamil Nadu (b) Karnataka

(c)  Andhra Pradesh (d) Kerala

DMK Uraet fom o &7 HEUs J ¢

(a) ITH® 33 (b) FEER

(¢c) Wiudr Yoo (d) B

What does the Chipko Movement stand for ?

(a) Cheap food (b) Protection of trees and forests
(c) Autonomy (d) Education
foua Wiess 3= J 1

(a) FAZT IAE (b) TIUIT M3 A T AIfeml
(c) FeUls3T (dy fhfanr

Which party system is prevalent in India ?

(a) Single Party System (b) Two Party System
(¢) Multi Party System (d) Military System
393 g foost uaet Yoot yeus J - ?

(a) B ygdt yeat (b) T-UFS yIET
(¢) HT-UIS YT (d) fiwedt yz&t
Who raised the slogan “Garibi Hatao” ?

(a) Jawaharlal Nehru (b) Indira Gandht
(¢) Morarji Deasi (d) Jyoti Basu
s ‘gidtat 9o’ fars gfconr A 7

(a) 7Y S 5fag (b) =g arfdt

(c) HIawT TATET (d) #staEH

Which state is attributed to the phrase ‘Aya Ram Gaya Ram’ ?
(a) Haryana (b) Punjab

(c) Bihar (d) Andhra Pradesh
Qat nirfen I famr aH’ &' fageT I AEUS I 7

(a) Tforrzr ‘ (b) UmrE

(c) faas (d) niud yer
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18.

16.

17,

18.

19.

20.

Which party formed government at the centre in 1977 2

(a) Jan Sangh (b) Janata Party

(¢) Lok Dal (d) Swatantra Party

1977 fe9 Ies T faost uadt 3 Fearg garet it 2

(a) &Ry (b) A3 UFA

() 3 TH (d) FReI3I3 UTS

Who is associated with the Total Revolution ?

(a) Jaiprakash Narain (b) Vinoba Bhave

(¢) Acharya Kripalani (d) Baba Amte

AHY fesamrat &% g feuz ¥ 2

(a) PYaH aafEE. (b) feasr s

(c) wrarafem fquesat (d) g nme

Mention the percentage of votes the BIP got in the Lok Sabha election of 2014:
(a) 254 (b) 23.7

(©) 315 (d) 35

®H AT 927 2014 feg dimnt § yng Fer & yimz o

(a) 254 (b) 23.7

(¢) 315 (d) 35

When was Punjab reorganized on the basis of language ?

(a) 1955 (b) 1960

(c) 1966 (d) 1971

3TH € »Ug ‘Y 0N T ysgHdes o st famr 5 ¢

(a) 1955 (b) 1960

(c) 1966 (d 1971

The Anandpur Sahib Resolution puts emphasis on:

(a) Demand for Khalistan (b) -More Autonomy to State
(¢) Maha Punjab (d)  Prohibition in Punjab
ndeYd Arfag W3 79 fder 3

(a) uTEAIS O Har 3 (b) TIH B frer ReTliasr <3
(c) Hordmy 3 (d) Ywg g srbet ‘3
Which party Sant Harchand Singh Longowal belonged to ?

(a) Shiromani Akali Dal (b) Shiromani Akali Dal (A)
(c) Peoples’ Party of Punjab (d) BSP

H3 J95e ffu Sdes fan uadt o #Eo3 Fs 2

(@) P niErs o (b) fHIHST it T (8)
(c) Ulumw uadt mig Uary (d) =t nom
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21.

22.

23.

24,

25.

26.

Which party launched the DharamYudh Morcha ?

(a) Indian National Congress (b) Shiromani Akali Dal
(c) BSP (d) Bhartya Janata Party
firr urget  ToH Tig HeW o g3 St A ¢

(a) SIS IHSI AAIH (b) oMt niadt @
(c) =t nmm. (d) 393t AGST Ul
Which party is not in the Punjab ?

(a) Bahujan Samaj Party (b) People’s Party of Punjab
(¢) Shiromani Akali Dal (A) (d) Bharatiya Janata Party
e g faodt uadt & 3 2

(a) SIHG AHTH UIeT (b) tusH uaet nfe Une
(c) fHHET niadt o5 (d) 393 AG3T Ut
Which party is new in Punjab politics ?

(a) Samajvadi Party (b) Shiv Sena

(¢) Aam Adami Party (d) BSP

g gAY feg fxodt vt &= Y

(a) RAHWEEr Uaer (b) fe A&

(c) i et uraet (d) =@t mrut

Which party Sucha Singh Chhotepur belongs to ?

(a) BSP (b) BIP

(c) PPP (d) AAP

Far fifw #2ug fan uedt &% RET3 3 7

(a) & wm At (b)y St HU

(c) Wt Ut (dy

The Balwantray G. Mehta Report is associated with:

(a) Sarvodya Work (b) Panchayat Raj

(c) Electoral System (d) Corruption
swe3ae . Hfazr folee AE J:

(a) FIfonr dH 5% (b) UYoTE3I TH IS

(c) TTYETH &F (d) fgACcwT &5
Which concept is associated with Mahatma Gandhi ?

(a) Syndicalism (b) Socialism

(c) Capitalism (d) Trusteeship

fsradt urgET HITIHT I 5% AEUS 3 7

(@) FHuRE (b) RHTRE

(c) Urlee (d) rrEIEt
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27.

28.

29.

30.

4 B

32.

33

What is the position of an individual in Liberalism ?

(a)  Selfish Entity (b) Liberated Person
(c) Rational Citizen . (d)  Superstitious Person
Segere 9 ¥ fonarst feim & it ot D 9
(a) Y=aI9H IRt (b) e fena=t
(c) fesor® safas (d) rioferemt fonest
The concept of class struggle is associated with:
(a) Adam Smith (b) Karl Marx'
(c) James Mill (d) G.B. Shaw
T991 AWIH <t UraaT Hdus Y-
(a) WM AfbE &% (b) IB HISH &
() A e & (d) .5 5 Es
Who focused on Scientific Socialism 2
(a) Proudhon (b) Saint Simon
(¢) Karl Marx (d) Hegel

R 3 fand famrs o'eg atsr At 7
(a) ygus (b) FH3 AEhE
() oI® HISH d I
Who was close associate of Karl Marx ?
(a) F. Engels (b) Kautasky
(¢) Charles Darwin (d) Alfred Marshall
IS H'ISA T FStet Afgtat &= /2
(a) We. TFmR . (b) Feret
(¢c) UI®H 3Tafes (d) "BEIZ HIE®
Identify the author of Hind Swaraj:
(a) Rabindranath Tagore (b) Lala Lajpat Rai
(¢) Aurobindo Ghosh (d) M.K. Gandhi
fde AR T 3ux & ugE a3
(a) ] PoFi I (b) FH FHUS IfE
(c) wiafde ul (d) »n4. . aridt
Identify Sarvodya leader:
(a) Minoo Masani (b) Vinoba Bhave
(¢) Rammanohar Lohia (d) V.V.Gin
AI=fonr Sis9 ot vgs a3
(a) Htg HAST (b) fedar =
(c) THHAETT B @ & . fat
Mahatma Gandhi derived his ideas from:
(a) Thoreau ) - (b) Emerson
(c) Tolstoy (d) All of them
HISH 3t & winy@ fegrg & A
(a §9F (b) EHIFz I 3
(c) T®ACE I (d) fegs mfonf 3

(Social Studies) 6



34.

3s.

36.

37.

38.

39.

40.

Which house is called the Upper House in the Indian Parliament ?

(a) Lok Sabha (b) Rajya Sabha
(c) Gram Sabha (d) Both (a) and (b)
a3t Are f9u foos Aes @uaw AOs J08TT I 7

- (a) B AST (b) THHAI

C(e) THFAT (d) € (a) "3 (b)
Who is the President of India ?
(a) Pranab Mukherjee (b) Pratibha Patil
(¢) Hamid Ansari (d) M.M. Joshi
393 T IHSIUS oF I ¢
(a) YZTH yuaH (b) yf3s ufes
(c) TfHe At (d) WM. WH. FE
Mention the first President of India:
(a) B.R. Ambedkar (b) C. Rajagopalachari
(c) Rajendra Prashad (d) S. Radhakrishnan
g793 T ufg® IHeuS & 83y 9.
(a) ot mrg. nigEad (b) H. THIUHTIGT
(¢) I9Td YyAE (d) A IUTIHES
What is the term of the President of India ?
(a) 3 Years (b) S Years
(c) 6 Years _ (d) Noterm
I3 ¢ THEIUST T AT AB ot O ¢
(a) 3 A (b) S5 HS
(c) 673 ' (d) =T aH &
Which Article of the Constitution deals with the impeachment of the President of India ?
(a) Article 56 (b) Article 60
(c) Aurticle 61 (d) = Article 62
Afegs e s Miadies 3793 © THCIUST € HTSH &% RE0S J ¢
(a) WIS 56 (b) PMIAEH 60
(c) MITH 61 (d) IS 62

President of India can exercise Emergency Powers under which Article(s) of the Indian
Constitution ?

(a) Article 352 (b) Article 356

(c) Article 360 (d) All of these

393 T THSIUST, mmemmmmm@mm

(a) YA 352 (b) MIETH 356

(c) MITITB 360 d) fegmg

Which of the following Prime Minister did not face the Parliament ?
(a) Charan Singh (b) V.P. Singh

(¢) LK. Gujral (d) H.D. Deve Gowda
Jot fefant R fao3 yormisdt 3 ARE @ AroHET ot ST A 2

(@) 995 fiw (b) & 2. i

(c) MEt Y IATH (d) . . T=aF
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41.

42.

43.

44.

45.

46.

47,

Who was the Deputy Prime Minister of India during 2002-04 ?

(a) Devi Lal (b) M.M. Joshi

(c) L.XK. Advani : (d) Bhairon Singh Shekhawat
2002-04 T975 I3 T QU YU HIFT AT HE ? -
(2) o IS (b)  WH. WM. HE

(c) WS, A niZTaE (d) 39 fiw Au=3

Who is Governor of Punjab ?

(a) Kaptan Singh Solanki (b) N.N. Vohra

(¢) Shanta Kumar (d) Gopalkrishna Gandhi
e @ JRIT IS I 7

(a) oIS iy ASat (b) NG, MG, TIT

(c) HZTIHT d) JusigEs Fidr

What is the number of Members of Parliament in the Lok Sabha from Punjab ?
(a) 07 (b) 13

(c) 15 (d 17

e 3 A O &1 i ¥ Hefimrt & Aftr ot 3 7

@ 07 (b) 13

() 15 (dy 17
Which house is not present in Punjab ?

(a) Vidhan Sabha (b) Rajya Sabha

(c) Vidhan Parishad (d) Zila Parishad

Uiy fée forosr AEs Hge &dt 3 7

(a) feus Asr (b) T AT

(c) feus udme ) g udtme

How many states are there in India ?

(a) 29 (b) 30

(c) 31 @ 32

g9z feg fds I I8 7

(@ 29 (b) 30

(¢ 31 (d 32

Articles 5-11 under Part II in the Indian Constitution deal with:

(a) Secularism (b) Equality

(c) Citizenship (d) Education

gragt Hfeus f&g Fa-11 »itdts widdte® 5-11 FEUS T6

(a) UIH foquusT &3 (b) FHEST 5

() ®IHIT &S () fHftmr &

In 2003, which Clause in the Indian Constitution was introduced ?
(a) Persons of Indian Origin (b) Overseas Citizens of India
(c) Non Resident Indian (d) Both (a) and (b)

2003 g, Frast Hieurs &g faodt ma= foufet ot AT ¢

(a) FIE HE T 3 (b) 393 ¢ feuw safex
(c) feomt feu afde grg3t ) (a) "3 (b) T

(Social Studies) 8



48.

49.

50.

51.

52.

53.

ldentify the person(s) responsible for the Non-

Alignment Movement

(@) Joseph Tito (b) Jawaharlal Nehru
(c) A Nasser - (d) All of them
wRfIGE iews wet fiera fenferdint & ufers & ?

(a) wAe de (b) eI &G 5fdg
(c) 2.3Rd (d feardg B
The idea of Panchsheel originated from:

(a) India (b) Tibet

(¢) Nepal (d) China

ot © fegrg §s St A ]

(a FIT b fz=33

() dUBT d &I

With whom did Jawaharlal Nehru sign the Treaty in 1954 on the basis of Panchsheel ?

(a) Marshal Tito
(©) Chau-en-lai

(b)

A. Nasser

(d) Dalai Lama

s @ wiog 3 AEIS &S 5109 & 1954 &9 fom & At JR=nE St A 2

(a) WIS A (b) TIFE

(c) TB-Tx-&fE (d) THEFH

The Non-Alignment Movement stood for:

(a) Peaceful Co-Existence (b) Disarmament

(c) fl.nti-Colonialism (d) All of above
wRfIGRT Bfad arfer I8t J

(a) HZ nirurt I BT (b) forAsdtags &t
(c) a9 A= L (d) Gudaz Ad
Citizenship means:

(@) A social recognition of membership of the society

(b) Legal recognition of the person as a citizen

(c) Membership of the state

(d) _Both (b) and (c)

FafeazTr I I :

(a) FHH & FersT & AHmd AeES  (b)
(c) TW & AEHAS (d)

Who is Chairperson of the Rajya Sabha ?
(@) Vice-President of India

(b) President of India

(c) Chief Justice of the Supreme Court

(d)

I AT T YOS AT

(@) 33 T Qu IRCIUE (b)

(c) FudhH daz ¥ dte ARfeA (d)

Name the first Vice-President of India:

(a)  Zakir Hussain (b)

(c) S.Radhakrishnan (d)

393 T ufad BY-THCIUS T &H TR ¢

(a) wiad o5 (b)

(c) WH. IUTIHGES (d)
9

fonat & afea 8 39 ‘3 TEAT HoHS
(b) »3 (c) €

Leader of the C%pcsition in Rajya Sabha
?

393 T THSIUIT
IReT feg feadt urget & &89

V.V. Gisi
B.D. Jatti

g, §. 7
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53.

56.

57.

58.

59,

60.

61.

What is the form of government in India ?

(a) Federa (b) Parliamentary.
(¢) Syndical (d) Dictatorship
393 S Fsag er qu alt 3 7
(a) Fuit (b) ARt
(¢) FWAHT (d) 3I&HET
Which Article deals with establishment and constitution of Supreme Court in India ?
(a) Article 124 : (b) Article 126
(¢) Article 131 (d) Article 143
5793 5 A9T-€3 ness © FensT w3 Faos &' faasT nradtam BEgs I 9
(a) "I 124 (b) nrIT® 126
(c) wItas 131 (d) »Ictas 143
Where is the seat of Indian Supreme Court situated ?
(a) Delhi (b) Kolkata
(c) Mumbai (d) Chennai
333" ALY nes3 fodd Afaz ¥ 2
(a) fest (b) B3I
(c) Haret (d) gaet

- Who was not the Chief Justice of Supreme Court of India ?
(a) A.N.Ray (b) M.H. Baig"
(c) P.N. Bhagwati (d) M.C. Setalvad
393 ©F F9<BY nfe®3 © dte ARfeR st 7 7
(a) & &, 3 (b) MM wE. T
(¢) Ut &, IRt (d) 7M. At FeweTs
Legislative Council was abolished in Punjab with effect from:
(a) August 1, 1969 (b) January 7, 1970
(c) January 7, 1971 (d) January 7, 1972
Urre &g feus ar@fis fom 3 s w3y § 715t At
(@) 1 7[@W3, 1969. (b) 7 A&=dT, 1970
(c) 7 &=t 1971 (d) 7 7a=dt, 1972
What is the number of seats in Punjab Legislative Assembly ?
(@ 17 (b) 119
(c) 120 (d) 127

A feus meT ffg et o farsdt it I 0
(a) 117 (b) 119
(c) 120 (d 127
Who welcome judicial activism in India ?
(a) Politicians (b) Lawyers
(¢) Public (d) Both (b) and (c)
393 {38 foqhy 9383 & oo famd & ¢
(a) THEIT (b) TS
(c) ugfea (d) (b) »3 (c) T
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62.

63.

65.

66.

67.

68.

Which Amendment Act in 1976 incorporated Fundamental Duties in Indian Constitution ?

(a) 42™ (b) 43"

(c) 44" (d) 45"

grast Kfeus &9 1976 &9 faodt Fu Aee & gfenmet eant § ks oIS At 7
(@ 427 (b) 43°

c) 447 d) 457

The UNO came into existence on:

(@) 24" October, 1944 (b) 25™ October, 1944
(¢) 24" October, 1945 (d) 25" October, 1945
UNO d® f&8 nrfenr A .

(a) 24 wE3Ed 1944 % (b) 25 WaZET 1944
(c) 24 »aZ=T 19453 (d) 25 nI3T 1945 3
Name the first Secretary General of the UNO:

(a) Trygve Lie (b) U Thant

(¢) Kurt Waldheim (d) Kofi Anan

UNO ¢ ufu® Reedt Aaes & & &

(a) ZIEdR & (b) TES

(c) TGC THUH (d) TS nEs

The headquarters of the International Court of Justice is situated at:
(a) The Hague (b) Rome

(¢) Paris (d) Geneva
feadmas dge ME AHfeA & HY Te39 AfES J ¢

(a) Ja1fed (b) 9+ f=H

(c) ufom fey (d) voe fed

The headquarters of the UNESCO is situated at:

(a) Rome (b) Paris

(¢) New York (d) London
UNESCO ¥ HY 839 AfE= J ¢

(a) 9H e (b) Ufan feu

(c) fog oox feu (d) &3o fe

Which country is not the Permanent Member of the Security Council of the UNO ?
(a) UK (b) China

(¢) Canada (d) France

fgg=T 7 UNO &t 5fimr Ag & FETSTHeA &9t J 7

(a) TR ()

(c) &S (d g

When did the Communist China get Veto Power in the UNO ?

(a) 1970 (b) 1971

(c) 1972 (d) 1975

AT di § UNO fig @t g & st At 2

(a) 1970 (b) 1971

(¢) 1972 d 1975

11 (Social Studies)



69.

70.

71,

72,

>

74.

78.

Who is the Secretary General of the UNO ?

(a) Boutros Boutros Ghali (b) U Thant

(¢) Kofi Anan (d) Ban-Ki-Moon

UNO ¥ Foed! Adss a2 J 7

(a) F3IH g3 Wt b) g&3

() e nEs (d) FB--H5

Which are the models of Federalism in India ?

(a) Unitarian Federalism (b) Cooperative Federalism
(c) Bargaining Federalism (d) All of the above

393 39 Aue® T HES fag3 o5 ¢

(a) feoet Aure (b) Ffgardt Auera

(c) FegH Auee (d) Budas Ay

The Sarkaria Commission is known for:

(a) Centre-State Relations (b) Linguistic Policy

(c) Fiscal Consolidation (d) Water Disputes

RIS SfHms Arfenr qier 3

(a) oEd-IH HYUr Bt (b) FE AT ZE

(c) T3t gaget st (d) ust sarfanr st

When was the Election Commission established in India ?

(a) Awugust 15, 1947 (b) January 25, 1949

(c) January 25, 1950 (d) January 25, 1951

3793 S8 9= Wlidl & A= Jfenr it 9

(a) 15 ndH3, 1947 (b) 25 Fx=TT, 1949

(c) 25 FAx=dt, 1950 (d) 25 Fa=4T, 1951

When did the Election Commission in India become multi-member body ?
(a) October 1, 1993 (b) October 1, 1994

(¢) October 1, 1995 (d) October 1, 1996

93 &9 9 T & f¥'q gg-Hert Argr g5t & 2

(a) 1 »agEg, 1993 (b) 1 3=, 1994

() 1 »a3ed, 1995 (d) 1399, 1996

Identify former Chief Election Commissioner of India:

(a) M.R Masani (b) A.G. Noorani

() M.S.Gill (d) V.M. Tarkunde

YIe HY 9T afvmsg & ufoers &7

(@) WM. g HAEY (b) &. . zavat

(c) WM. WM. T (d) . A s

What do NOTA stand for ?

(@) None Of The Above (b) No Official Time Allowed
(¢)  Nothing Of The Authority (d) Not Allowed Time Allowance
NOTA &t g=ed ¢

(a) 35 g fo nge (b) & nrfcfimm zE8td niw8s
(c) ofEa nrg fo nErfact (d) &< »83 e nim R
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GEOGRAPHY
What is the percentage of global precipitation in India ?

(a 6 (b) 4

(© 2 d 1

a9z fog feme-formi 1T o9 o y=ins fadt 9 7

(@) 6 (b) 4

() 2 (d) 1

Which of the following state is not having jhumming type of farming ?
(a) Assam (b) Mizoram

(¢) Nagaland (d) Haryana
WW&%%@W%M@WW&W% ¢
(a) WAH (b)

(c) ®AHS (d) Tfanre
Which of the following area is suitable for agriculture in India ?
(a) Bhabar (b) Teral '

(¢) Thar (d) Bhangar
aa3 fog Jat fofant f faozr fewer 3t &t o=t O 7
(a) ud (b) 3IIEr

(c) ®9 (d) 3T

Which of the following state is not a wheat producing state ?
(a) Kerala (b) Uttar Pradesh
(c) Punjab (d) Madhya Pradesh
ot ffamit o fargar I 9 §3u=d IH &9t J !

(a) OB (b) @3‘6 YTH

() uvH (d) ¥Wuy<H
Coconut is produced in:

(a) Gujarat (b) Kerala

(¢) Tamil Nadu (d) Both (b) and (c)
&I & 83uEs g

(a) gmars g (b) o9% <R

(c) a3 s (d) (b) M3 (c) T
Which is a Rabi crop ?

(a) Wheat (b) Maize

(¢) Bajra (d) Jute

faost 9t SR T ¢

(a) oA (b) HaEt

(c) FHI (d) UHS

Identify the non-food crop(s):

(a) Rubber (b) Jute

(c) Cotton (d) All of these
39 ¥ g% <t ufaeE &9

(a) JE3 (b) UTHAS

(¢) Tud d) feord
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8. How geogrﬁphers take interest in minerals ?
(a) Formation of minerals (b) As part of the Earth’s crust
(c) Determine physical composition (d) Determine chemical composition

aama”rufw*ﬁaﬁ%aﬁau@m ?

(a) yfeT & ge39 b) TIStdouFtefme 393
(c) 33 7&39 Hoga doe (d) oAfefsa 9239 Haga aad
9.  Which state dominates in production of iron ore ?
(a) Karnataka (b) Jharkhand
(c) Chhamsgarh (d) Odlsha
faoa oW 9 &0 ¥ §3ues o yuadt ager I
(a) dTI&H (b) 53“13
(c) ==StHaE d) €stw
10. Which state dominates in production of copper ?
(a) Rajasthan (b) Madhya Pradesh
(¢) Jharkhand (d) Bihar
fgos aw 3t8 ¢ G3ues &9 yoadt sger ¥ ¢
(2) THAES (b) HUYyeH
(c) s (d) faoe
11. In India, gold is found in:
(a) Kolar (b) Hutti
(c) Ramgiri (d) All of the above
93 &9 Aar urfenr Ater J:
(a) w9 & (b)y T3tfew
(c) IHfardt o d) SFI=Fy
12.  Which of the following contributes 63 per cent of India’s petroleum ?
(a) Assam (b) Gujarat
(c) Mumbai High (d) Kerala
I ff3nt 139" faoar 93 ¥ Yoy €t 63 y3ms fiiedt u@er 9 ¢
(a) MAH (b) FHII
(c) ¥agt ot @) I
13. Which is the longest National Highway in India ?
(@) NH1 (b) NH7
(c) NHS8 (d) NHO9
3193 I8 A8 2 B gHedt Higal faozr I 2
(8 NHI (b) NH?7
() NHS (d NHO9
14.  Where is the Chaudhary Charan Singh International Airport located ?
(a) Lucknow (b) Varanasi
(c) Jaipur (d) Na ur
Ut 995 fiw nizgamedt geet s e Afes i‘r
(a) HUBE (b) e’awﬂ
(© g (d) BT

(Social Studies) 14



15.

16.

17.

18.

19.

20.

21.

Which is the largest public sector undertaking in India ?

(a) SAIL (b) Railways

(¢) NPTC (d) TISCO

3793 &9 Ag 3 I37 AIIHSA ¥39 A9F9 fqo3T J 7

(a) RS (b) IS

(c) wsdtd A d) fers

Which railway gauge is widely used in India ?

(a) Broad (b) Meter

(c) Narrow (d) None of the above
faast Ju2 e 3793 Y A8 3 U YT aiST Al J ¢

(a) gt (b) Mg

(c) FAgfes (d) Gudz aEt dt
What is the total population of Punjab under Census of 2011 ?
(a) 250.43 lakh (b) 260.43 lakh

(¢) 277.43 lakh! (d) 373.43 lakh
H5IEST 2011 s Uare & d% Fentr fdat 3 ¢

(a) 250.43 B4 (b) 260.43 B

(c) 277.433H (d) 3734334

The Bist Doab lies between:

(a) Beas and Sindh (b) Beas and Sutlej
(c) Beas and Ravi (d) None of the above
far3 onrg AfE3 3

(a) oA »iz Ay fegag (b) T »3 AzEA fevad
(c) formA ni3 T<t fegaa d) BuIas gt &t
The city of Amritsar is located in:

(a) Bari Doab : (b) Bist Doab

(¢) Rachna Doab (d) Chaj Doab
vify3Ag Afog AfE3 9 ¢

(a) =IT onfE SO (b) forz oy ST
(c) To& onig &9 (d) 7o &
What is the cropping intensity in Punjab ?

@ 191% (b) 201 %

(c) 250% d) 291%

Uy féu ast Stggzr ot T ¢

(a) 191% (b) 201 %

() 250% (d 291%

What is the recorded forest area in the Punjab ?

(a) 3% (b) 6%

©) 9% @ 11%

g fT van Haet fewar at J ¢

(@ 3% b 6%

©) 9% d 11%
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22.

23.

24.

28S.

26.

27.

28.

Which of the following in the region is called Changar ?

(a) Nurpur Bedi (b) Hoshiarpu

(¢) Anandpur Sahib (d) Pathankot

Iot fefamit 9 fara? 39 § dare for wer 3

(a) 3IYT FEt (b) gfmmeus

(c) nideyg Arfog (d) usEae

Where is the Harike Wetland situated ?

(a) Tarn Taran District (b) Amritsar District
(c) Kapurthala District (d) Ferozepur District
It AH Tast ﬁ% AfE3 3 2 -
(a) 3I5 396 (b) wifi3Ag

(9 FyTES frigr d) fedwys frgr
Which area(s) has saline soil in Punjab ?

(a) Fazilka (b) Bhathinda

(c) Sangrur (d) Both(a)and (b)
Urry fRu faos fewa fég urdt it 9 7

(a) efrsar (b) gfEs )
(c) Hags @ (a) m3 (b) &
Which crop by area is predominant in Punjab ?

(a)  Sugarcane (b) Wheat

(¢c) Rice (d) Cotton

y37 o Uny o faoft e gy 3 2

(a) (b) TE

(c) U=H (d g

Which of the following mineral(s) is in Punjab ?

(a) Sand (b) Sandstone

(c) Gravels (d) All of the above
Urre &g Jot fefamit &9 faoz ufem & 2

(a) T3 (b) Het

(c) S ) BuIzz A9
Guru Angad Dev Veterinary and Animal Sciences University is situated at:
(a) Phillaur (b) Mohali

(¢) Bhathinda (d) Ludhiana

a9 MR T Teadt w3 K FTER GReetidt AES I

(a) fe33feu (b) WII ey

(c) fSs fey d) i fey
Where is office of the Punjab Tractors situated in Punjab ?

(a) Mohali (b) Moga

(¢) Chandigarh (d) Ludhiana

e 9 UFg Sdcon o ve3d fag ez & 2

(a) WIS (b) FHar

(c) Tz @) Bftowa
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29.

30.

31.

32.

33.

34.

Which Railway line is non-existent in Punjab ?

(a) Bhathinda-Narwana (b) Amritsar-Tarn Taran
(c) Patti-Ferozepur (d) Ferozepur-Ambala
e g frast e ots d9 fge ) 7
(a) IfésT-aI=™ (b) wfH3AI-335 396
(c) udt-fedmys @) fedmyg - vaw
What does abiotic part include in the ecosystem ?
(a) Air (b) Water
(c) - Soil (d) All of the above
ufgnregs, fég mfvs mafea forr at ¥ ¢
(a T (b) uEt
(c) firdt (d) Buias A
Decibel is the standard for the measurement of:
(a) Air (b) Noise
(c) Distance (d) Height
Brtes feme Wy T i 3
(a) T (b) w»eW
© T (4 €t
Where was the Kyoto Protocol adopted in 1997 ?
(a) Japan (b) South Korea
(¢) China (d) Taiwan
1997 f&g npserfenr famir Kyoto Protocol @ HI 7
(a) TS (b) TS IIMT
() & (d 3RS
The Ozone layer is located in:
(a) Troposphere (b) Stratosphere
(c) Mesosphere (d) Ionosphere
€75 uI3 AfE3 J
(a) UmenT *9 (b) FecHen® Re
(c) MiAmeng feg (d) wrfedrenT &g
Who proposed the Big Bang Theory ?
(a) Edwin Hubble (b) Copernicus
(¢) Fred Hoyle (d) Georges Lemaitre
Big Bang fHu3 fara fasr At 7
(a) PSfesTE® 3 (b) aruIfEaH 3
(c) BITHS (d) woH BHET B
17
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3S.

36.

37.

38.

39.

40.

41.

What is the period of Holocene Epoch ?

(a) 10,000 Years Ago (b) 2 Million Years Ago
(c) 8 Million Years Ago (d) 24 Million Years Ago
Holocene Epoch & & ot O 2

(a) 10,000 A& yfgst (b) 2 HSE A ufost
(c) 8 s A ufgst (d) 24 HSME s ufost
Top layer of the Earth is known as:

(a) Core (b) Crust

(c) Mantle (d) Nife

gt & Ag 3 BuIst U9z 7 Aet -

(a) T (b) WSt

() Hew d) &ete

Which rocks are abundant in the Earth’s crust ?

(a) Sedimentary (b) Metamorphic

(¢) Igneous - (d) None of the above
ugst € Wt T oo Jerst 59373 g 05 2

(a) 3IBSI (b) gui3fax

(¢) nEEt d) Budsz aet st
Which planet is the largest in diameter ?

(a) Jupiter (b) Uranus

(¢) Earth _ (d) Pluto

ferm fRefaor o Iy 9

() gfomst (b) »igE

(c) T3St (d) us2

Which planet has the smallest year in Earth time ?

(a) Pluto (b) Neptune

(c) Earth (d) Mercury

WStAN R faad oo s g T aary

(a) e (b) <gE

(c) oISt d) U

Which Ocean is the deepest on the Earth ?

(a) Pacific (b) Indian

(c) Atlantic (d) Arctic

93t €3 78 3 W oA frgar 3 9

(a) YAz b) fie

(c) nig (d) nraafes

Which is the third largest ocean on Earth ?

(a) Pacific Ocean (b) Atlantic Ocean

(c) Indian Ocean (d) Arctic Ocean
oSt €3 StHer A8 3° &3 Homes fagsT Y ¢

(@) YH'3 HIAWY (b) WU HIFTIT

(c) fde HoFag (d) rrIfed HaRaE
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42.

43.

44.

45.

46.

47.

48.

What is the composition of iron in the Earth ?

(@ 35% (b)
©) 15% (d)
ot e sy S Eesa I ?

(@ 35% (b)
() 15% (d)
Which continent is the smallest on the Earth ?
(a) Europe (b)
(c¢) Australia _ (d)

uaa’r@?faaafmélum?ézﬁ 9

30 %
13%

30 %
13 %
Africa
Asia

mediar

Burmese
Japanese

Peninsula -
Strait
FTEE J

7% 3HY

High Ocean Current
W arm Ocean Cuxienk
&g miTdt g9

Jr9H ANEdT Trar
China Sea

Caribbean Sea

ots A9

(a) G (b)

(c) PIACHM (d)

Which language is the word Tsunami derived from ?
(a) Arabic (b)

(¢) Tamil (d)

et e faraat g 3 foor famr 9 7

(a) niE (b)

() (d)

A landmass surrounded by sea on three sides is called:
(a) Archipelago (b)

(¢) Island (d)
mﬁwﬁmﬁwfﬁﬁﬁuﬁnﬁéﬂﬁamﬁwﬁw%
(a) EUAHT (b)

(c) € d)
El-Nino is:

(a) Cold Ocean Current (b)

(¢) No Ocean Current )
H-t6 I

(a) &3 AWQE U9 - (b)

(¢ oE miedt ae 5t (d)
Mention the region of Typhoons:

(a) Indian Ocean (b)

(c) USA (d)

At 3eTst T §39 v 8%y &9

(a) fJ€ HoHWIIG (b)

(©) (d)

Which layer is near the Earth’s surface ?

(a) lonosphere (b)

(¢) Troposphere (d)

o3t AT 33 faadt we= 9 7

(a) nifedHend (b)

(c) QUFEMS. (d)
19
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Stratosphere
Exosphere

ACcHeMd
NIAAEHT
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49.

50.

.1

52.

53,

54,

What is the outermost atmosphere of the Earth ?

(a) Thermosphere (b)  Exosphere

(¢)  Magnetosphere (d) Both (b) and (¢)
Todt & AES st emism At ¥ 2

(a) ©IASNHT (b) MRS

(c) FaBeHINT (d) B (b) »3 (¢)

During Equinox:

(a) The Sun shines vertically over the Equator

(b)  The Sun shines tan gentially at the Poles

(¢) Sunlight is equal at all the Parallels

(d) All the above

Equinox ¥3'% ¢

(2) HIF I-HU o7 ¥ feaen Gua sHae™ I (b) HIH Ug<T 3 3987 gHaeT I

(€) F'Y AN ‘3 Fow & 9mat A d) BuyIaz A3

How many Pressure Belts are on the Earth’s surface ?

(@ 5 (b) 6
© 7 (d) 8
ugst € mgr 3 st Tamr Tdtnrt 75

(a) 5 (b) 6
() 7 (d 8

What does the Richter Scale measure ?

(a) Intensity of energy released by an earthquake
(b) Damage caused by an earthquake

(c) Prediction of an earthquake

(d) None of the above

foses e & e § 9

(2) ¥ 39 oo 25t ot Qowr & Fhwozr
(b) II® oo Jfemr saFTs

(c) 3US T nEHE

(d) Bude= F=t 5t

Which instrument(s) measure humidity ?

(a) Hygrometer (b)  Sling Psychrometer

(c) Perimeter (d) Both (a) and (b)
W3 A & Huer I 9

(a) TERteT (b) Fﬁm\ﬂ’&ﬁzﬂ?‘u’

(c) Udhites (d) (a) m3 (b) T

Identify type(s) of precipitation:

(a) Conventional (b) Orographic

(c) Frontal (d) Al

Tour dort farr ufgers -

(a) foerfest (b) »ma{r@a"‘

(c) n@Erst (d #A3
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35.

56.

§7.

58.

59.

60.

61.

What is the Latin name of rain cloud ?

(a) Cumulus (b) Alto

(c) Nimbus (d) Cirrus
Ty S T HIR FHA I 7

(a) SH®H (b) MBS

(c) fé=m d) fiHan
Pedology is study of:

(a) Soils (b) Climate

(¢) Water (d) Volcano
USHH wiftis T

(a) fHShit & (b) AHRYG

(c) ust d) TEEH
What Oxidation of a rock leads to ?

(a) Composition (b) Decomposition
(c) Carbonation (d) Hydration
Jea ® MaHIAds o096 of ge' d ¢

(a) IS (b) fouwes

(c) TIIBIFIS (d) TEIHS
Where is the Sahara Desert located ?

(a) North Africa (b) India

(¢) Iran (d) Peru

FaTaT HgAes 38 Afaz J

(a) B3 nedia (b) 3TI3

(c) fe=s (d) ug

How a volcano is formed over long geological period ?

(a) Ejection (b) Cooling

(c) Solidification (d) All of these
@g—%@mw%ﬁiﬁﬁwﬁﬁ%aﬁ% ?
(a) HOUH TEHIH (b) HIHEIS &S
(c) BAITS &S (d) feomg

What is permeability of a rock ?
(a) To allow water to pass through arock(b)

(¢) To evaporate (d)

dos o AT 2

(a) U & ¥ g It duE T (b)

(c) THY II&T (d)

What is the meaning of archipelago ?

(a) Group of mountains (b)

(¢) Group of islands (d)

Archipelago T ot »9g J 7

(a) YI=EIE AHJ (b)

(c) <t AT (d)
21

To resist water
To promote large surface run oft

et & _
fers 3% T®M § AR

Group of rivers
Rain forests

aemit T AHY
I HIS
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62.

63.

65.

66.

67.

68.

Which country is called the land of Rising Sun ?

(a) Japan (b) North Korea

(c) Russia (d) Taiwan

Bue Fo7 & ggst faoar ¥n qoger

(@ Y& (b) B3t Tt

() §n (d) 3Ees

The Dead Sea lies between:

(a) Jordan and Syria (b) Israel and Egypt
(c) Israel and Jordan (d) Iraqand Iran
Dead Sea 3 :

(a) ¥ISE M3 A fegarg (b) ferasts w3 Sfaue fegarg
(c) Terosi® w3 A93s fegarg (d) fega =z s fegarg

In the Polar areas, Salinity is:

(@) Low (b) Moderate

(¢) High (d) Nil

Ugst B39t &Y, yanus I

(a) uz (b) WH3

(c) €9 (d) freg

Which force(s) operate in the formation of the tide ?

(a) Attractive force of the Earth (b)  Attractive force of the Moon
(c) Attractive force of the Sun (d) All of these

AeIe ¥ foans &3 st 3ot @i agetr g5 9

(a) UIst & rragrRE AESt (b) T T wiETRE FIIT
() HIH & nirggRE Bt (d) fegrg

What is the percentage of Sodium Chloride in the composition of sea water ?
(@ 778% (b) 10.9%

(c) 47%. d) 3.6%
Hﬁeﬁtﬁﬁ%mﬁgﬁMMﬁqﬁﬂgﬁﬁﬁ ?

(a) 77.8% (b) 10.9%

(c) 4.7% (d) 36%

In area, India is the largest country in the world.

(a) 7lh (b) 81h

(c) o d) 10"

U39eH 9, a3 e o 2w oR

(@ 7% (b) 8=

(c). 9% (d 10

What is the average elevation of the Shiwaliks ?

(a) 900 -1000 m (b) 3700-4500m

(¢) 6000 m (d) 8848 m

fiverfisal <t wiFg Garet ot 3 9

(@) 900-1000m (b) 3700 - 4500 m

(c) 6000m (d) 8848 m

(Social Studies) 22



69.

70.

1.

72.

73.

74.

8.

'Identify the Himalayan River System:

(a) The Indus System (b) The Ganga System
(c¢) The Brahmaputra System (d) All of these
fondinis efanT yedt &t ug'E &9:

(a) &7 y=at (b) dar yEEH

(c) FOHUST Y& (4 fegrs

Which state in India is known for early Sun rise ?

(a) Nagaland (b) Arunachal Pradesh.
(¢) Mizoram (d) Tripura

5793 f¥9 fagar v Feet god GaE set Afenr Aer J !

(@) @IS (b) IGETS YeH

(c) HivaH (d) U

Which state in India is known by the name of Black Water ?

(a) West Bengal (b) Odisha

(¢) Tamil Nadu (d) Andaman and Nicobar
gra3 g fogam I0 TS UEt ¥ &H geirgr Aoy e J 7

(a) UMt 90 (b) Gt

(c) ITHS &3 d) »BHE w3 SlaEd
Which area is not linked to the Indian Ocean ?

(a) Asia (b) Africa

(c) Arctic (d)  Australia

f%a MO &' foraar fewrar adt @fanr 3 7

(a) ZHMT (b) nicHE

(c) e (d)

Place Punjab is in one of the physiographic units: _
(a) The Himalayas (b) The Indus-Ganga-Brahamputra Plains
(c) The Peninsular Plateau (d) None of the above
Ve & fan fea yfsefsa fearet fo au:

(a) Towfemr (b) fESH-daT-goHUST HE'®
(c) ugfeendt ueg (d) Guds3 agt &t
What is the percentage of land area under plains in India ?

(a) 43, | (b) 30

). =27 (d) 20

S93 g Tt midts T9St ST S yFES AT J 7

(a) 43 (b) 30

() 27 d 20

Which soil type is predominant in Punjab ?

(a) And (b) Black

(¢) Alluviat (d) Laterite

g g fom fxm & Hdt yos T 7

(a) €79 (b) &

(c) 753 (d) BeIErR
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ECONOMICS
1. When was the Planning Commission set-up in India ?

(a) 1948 (b) 1949
(c) 1950 (d) 1951
393 {39 GHET MG ae” gfenr At ?
(a) 1948 (b) 1949
(c) 1950 @) 1951
2.  When did economic planning begin in India ?
(a) 1950 (b) 1951
(c) 1952 (d) 1953
393 f¥8 MToed Gragel ¢ Mg et AT 7
(a) 1950 (b) 1951
(c) 1952 (d) 1953
3.  With deduction of depreciation from the GNP, we get:
(a) NDP (b) NNP
(c) GDP (g) SGDP
GNP R B we F weBs I yus ger 9 :
(a) NDP (b) NNP
(c) GDP (d) SGDP
4. Real GDP is obtained by:
(a) Nominal GDP/ Price Level (b) Nominal GDP - GDP Deflator
(c) Nominal GDP x Price Level (d) Nominal GDP / GDP Deflator
A% GDP Y3 get J :
(a) Nominal GDP/ Price Level (b) Nominal GDP — GDP Deflator
(c) Nominal GDP x Price Level (d) Nominal GDP / GDP Deflator
5.  What was the share of agriculture in the First Five Year Plan in India ?
(a) 56.46 % (b) 52.13%
(c) 46.77 % _ (d 3690%
g9z f&g ufost Jarer avsT &8 83t & fdo Gaers At 2
(a) 56.46 % (b) 52.13%
(c) 46.77% (d 3690%
6.  What was the contribution of agriculture to India’s national income in 1951 ?
(a) 51% (b) 59%
(¢) 65% d 75%
1951 39 3793 €t THeSt nnes e B3t © o Gaers /it 2
(@ 51% (b) 59%
(c) 65% d 75%
7.  In Economics, the Green Revolution means:
(a) Increase in the forest area (b) Introduction of High Yielding Varieties
(c) Increase in food production (d) -Both (b)and (c)
nJE AA39 *9 ot i3t e ng 9
(a) W 839 feg aur (b) €v E&3uw famqt & gonrs
(c) 375 E3uwes R = (d) (b) ™3 (c) e
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10.

11.

12.

13.

14.

Mention the beginning of the Green Revolution in India:

(a) 1951 (b) 1961

(c) 1966 @ 1977

goz feg odt gt e mdg €/

(a) 1951 (b) 1961

(c) 1966, (d) 1977

When were 14 commercial banks nationalized in India ?

(a) 1965 (b) 1969

(c) 1977 d) 1991

393 9 14 U9 0 T THSIIEGS Xe A13T famrr ?

(@) 1965 (b) 1969

(c) 1977 (d) 1991

When did India join World Trade Organisation ?

(@ 1991 (b) 1993

() 1995 (d) 1998

3793 ferz Turd Raos fT ae Afus dfenr 2

(a) 1991 (b) 1993

() 1995 (d) 1998

Foreign Exchange and Foreign Currencies in India are governed by:

(a) SEBI Act (b) FEMA Act

(c) RBI (d) Banking Regulation Act

(a) At wieE e (b) H WIS THTET

(c) ng & et g d) & IIBHS M AT

The Rupee was devalued in:

(a) 1956 (b) 1962

(© 1959 (d) 1966

JUT T WRHSBE a3 famr A

(a) 1956 <8 (b) 1962 35

(c) 1959 <9 (d) 1966 &9

Who prepared the draft outline of the Second Five YearPlan in India ?

(a) D.R.Gadgil (b) P.C. Mahalanobis—"

(c) AK.Sen (d) T.T. Krishnamachari

393 fég gRAt U A Giner € 397ee fard fanrg o3t At 7
(@) &t oorg. arsfas (b) Ut A HoSER

(c) Z.A.AG d 2. 2. fgEsHerdt

Which body estimates the National Income in India ?

(a) NITI Ayog (b) Ministry of Finance

(¢) Central Statistical Organisation  (d) RBI

93 &Y THSIMHES © nigHs foaost ARET &8st @ 7
(a) &= wGa b)) f&EyzTe
() A=t Aiftmidt FaGs (d) g, ot ot
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15.

16.

17'

18.

19.

20.

21.

The Twelfth Plan covers the period of:

(a) 2010-2015 (b) 2011-2016
(c) 2012-2017 (d) 2013-2018
Frget Giew T8 s e Y
(a) 2010-2015 (b) 2011-2016
(c) 2012-2017 (d) 2013-2018
New Industrial Policy was introduced in India in:

(a) 1990 (b) 1991
(c) 1992 (d) 1993
3793 f&u &<t Getifam A3t faniet arst A
(a) 1990 (b) 1991
(c) 1992 (d) 1993
Which is not an indirect tax ?
(@) Sales Tax (b) Excise Duty
(¢) GiftTax_ (d) Custom Duty
foraz niygy a9 &0t J
(a) feadt o (b) wAE 382t
(c) Buggag (d) e 58S
The concept Blue Box deals with:

" (a) Patent Regime (b) Subsidy Regime
(c) Banking System (d) Share Market Mechanism
‘Blue Box’ & Uraa AEU3 T :
(a) U2 Uudt &% (b) AEAST Ut &%
(¢) Ffdar yeoit 5% (d) Tmig =T fedt &%
The Blue Revolution is related to:
(a) Indigo Production (b) Salt Production
(¢) Fisheries (d) Steel Production
At g ART S
(a) BB Bs'ure?s > (b) THI B3UTE I
(c) HeEtuse s (d) 7B G3ues a8
Mention the basis of Dearness Allowance for employees in India:
(a) Consumer Price Index (b) National Income
(¢) Per Capita Income (d) Both (b) and (c)
793 &g oM BET HiJaret 33 ¥ niurg & §3y a9 ¢
(a) BusSa=T Tz Fox md (b) arﬂza"r MHTE
c) Yt fenigdt mines (d) (b)M3 (c) T
The term MSP stands for:
(a) Minimum Support Price (b) Maximum Support Price
(¢) Minus Support Price (d) Marginal Support Price
85 MSP 3 3% J:
(a) ToB&3H AHIES U (b) fUERH AHTES HS
(c) W@ AHJES HS (d) FHZ AHTES HS
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22.

23.

24.

28.

26.

27.

28.

New Economic Policy in India in initiated economic reforms.
(@) 1990 (b) 1991
(c) 1992 (d) 1993
feg &<t niafex i3t 3 3793 &9 nigex FuTt & Bgrs 1St AL
(a) 1990 (b) 1991
(c) 1992 (d) 1993
The poverty ratio 1s the fowest in:
(a) Kerala (b) Pumjab
(¢) Gujarat (d) Himachal Pradesh
I wisuTs AE 3 ule I
(a) TIH <8 (b) Uag s
(c) TwIsfes (d) foes yeom e
Which of the following collects data on poverty in India ?
(a) CSO (b) NITI Ayog
(¢) NSSO. (d) Ministry of Finance
grg3 T et €3 niaz Jot fifam fo5° Iz fFad e J ¢
(a) FHT oA 8 (b) IS viGEr
(c) Wi WA A € G RCERIECHY
In India, inflation is measured on the basis of:
(a) Retail Price Index (b) Wholesale Price Index
(¢) Consumer Price Index (d) Both (b) and (c)
3793 29 Hegr At & vy feRe wiog 3 st Afer J:
(a) UIYS AH3 FEInA (b) B AHI FE
(c) BusaE dHI FEamixX (d) (b) "3 (c) =
Mention the largest source of electricity generation in India:
(a) Thermal Power (b) Tidal Power
(¢) Solar Energy (d) Wind Power
g9z feg fard @3utes T Ag 3 &3 AN ©H:
(a) 3t Gomr (b) TR GIH
(c) Honr Bamr (d) T HaSt
What does ‘Eco’ mark on the product mean ?
(a) Quality (b) Economical
(¢) Environment Friendly (d) Green
83uw €3 ‘Eco’ HaQ Tt n@E I ?
(a) I3 (b) HAZT
(c) ufgnreas fa3rt (d T
Which is the largest source of national income in India ?
(a) Industrial Sector (b) Service Sector
(¢) Agriculture Sector (d) None of the above
393 &g ITHSYT s € A8 3 3T AW fagar 9 ¢
(a) EGeufoa 539 (b) R E3T
(c) =339 (d) Budas et adt

27 (Social Studies)



29.

30.

31.

32.

33.

Who is the Finance Minister of Punjab ?

(a) S.S.Badal (b) M.S. Badal

(c) S.S.Dhindsa (d) P.S. Dhindsa
g v 3 Hsdtas v 2

(a) WH. WA, I8 (b) WM. ¥, TES
(c) WA wm. SsH (d) Ut »m@EE
Punjab contributes in a major way to the buffer stock in:

(a) Wheat (b) Rice

(¢) Jute (d) Both (a) and (b)
g T 379 o9 1 U Y Toes U@ U |
(a) = (b) T

(c) VB (d) T (a) "3 (b)

What is the percentage of net area sown under irrigation in Punjab ?

(@) 97 (b) 98

() 99 (d) 100
Urrg feg ROt niis gu St 839 &8 ySims 3 ¢
(@) 97 (b) 98

) 99 @ 100

Where is the Stock Exchange located in Punjab ?

(a) Patiala (b) Amritsar

(¢) Bhathinda (d) None of the above
Ay {9 Ao niaAeH foE Afes I ¢

(a) ufenmer (b) ifiEAe

(c) fésT (d) BuIF3 aet &t
What is the ranking of Punjab in terms of per capita income in India ?
(a) 9™ (b) 10™

(c) 11 (d 12

3793 {29 Yt fenia=St nindes © 0 3 YAy o g9 fasr 9 7
(a) "9 (b) 10=F

(© 11§ d 12&
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34.

35.

37.

38.

39.

40.

What 1s the other name of Marshallian Approach to consumer equilibrium ?

(a) Ordinal Approach (b)
(c) Hicksian Approach (d)
BusarsT Hz®s € HaRS Uge & Jg H ot
(a) wirastes ude (b)
(c) foam udw (d)

Cardinal Approach
Slutsky Approach

wafﬁmug”a
A®3He UJd

The Marshallian Theory of Consumer’s Behaviour is based on:

(a) Weak Ordering (b)
(c) H ypothfisis of Independent Utilities (d)
HIRs T QusarsT feears T Aoz nes 9

(a) THAT TI3 ‘3 (b)
(c) H333 Burars=et g ufgasus '3 (d)

Who introduced the concept of elasticity ?

(a) Alfred Marshall. (b)
(c) J.M. Keynes (d)
o oF argsT fams &3t At ¢

(a) NBSIS HIHS (b)
(c) #. 7M. I&H (d)

Hypothesis of Addictive Utilities

Both (b) and (c)

(b) ™3 (c) TF

Adam Smith
N. Kaldor

v AfE
G, B39

The price elasticity of demand is equal to one for a demand curve, which is:

Horizontal Line
Downward Moving Line

Bt ur

Inelastic Demand
Both (a) and (b)

TSHGETT HaT

(a) Vertical Line (b)

(¢) Rectangular Hyperbola (d)

& Har =59 BT Har & o3 ol fEx T 89789 3, A J:
(@ g (b)

(¢) foadams ostugge (d)
What does notation for elasticity Ep=1 stand for ?
(a) Elastic Demand (b)

(c) Unitary Elastic Demand (d)

Hor3 %9 Ep=13 st 3= J

(a) &gerg Har (b)

(c) fearet Sgeg dar (d)

(a) M3 (b) T<

The Revealed Preference Theory of Consumer’s Behaviour is based on:

(a) Consistency

(b) Strong Ordering

(c) Positive Income Elasticity of Demand (d) All the above

uaarsT fegarg e yaie 39dia & wag3 J
(a) feamas (b) HAES O 3
(¢) Ha1 & Us3HE »THEs B9 ‘3 (d) Busaz A9
The concept of consumer surplus was developed by :
(a) J.R. Hicks (b) A. Marshall
(c) K. Arrow (d) Dupit
BugarsT 593 o9 T feam o3 famr At
(a) . 9. faam ourar (b) . HIHS NI
(c) o. Mg anfar (d) 3fuz enmar
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41.

42.

43.

44.

45.

46.

47.

Which is (are) basic pillar(s) of Revealed Preference Theory of consumer demand ?
(a) It 1s based on behaviourist method.
(b) It uses the concept of ordinal utility.
(c) Itis based on strong preference hypothesis.
d)_ All of the above
3 “Ha1 € ydie 39910 @ AUz 2 Hed wiug f3o3 95 7
(@) feg fe%maﬁ?r fedt ‘I neaz I
(b) feg egnmy QuuifasT & urgs B Yo J9eT 9
(¢ f&g vAg3 39 ufgemus 3 wues I

(d) GuWasAY

A decrease in aggregate supply can lead to:

(a) Unemployment - (b) Tost-push inflation

(c) Demand-pull inflation (d) Prosperity

% yIst <9 ot 5% J AEer J: |

(a) SgHArSt (b) HI3-Ufg3 Hegr At
(c) Ha dar Hea' ASIST (d) FRuss

National income is equal to:
(a) Net National Product at Factor Cost (b) Gross National Product at Factor Cost

(c) Capltal Consum%tmn (d) Both (a) and (¢)

(a) FAUG ®IE 3 HU IHSS B3u® (b)) A'Us 93 ‘3 I IHSI 83U

(c) vt Busar (d) (a) ™3 (c) T

Which payment is excluded in calculation of national income ?

(a) Wages (b) Profits

(c) Rents (d). Transfer Payments

JHSIT niHEs T Tee K9 g3 393 gog Sfimr Aler I ¢

(a) MAEdt (b) T3

(c) &S (d) TJHAITIIE FAIZE

Who propounded the Theory of Comparative Costs ?

(a) Adam Smith (b) David Ricardo

(c) Karl Marx (d) Eli Heckscher

3B&IHR Hast = fAuis fams fosr At 2

(a) nSH AfHE (b) 3fes foags

(c) TTI®% H'ISH (d) T JaEg

Which is not taken as indicator in Human Development Index ?

(a) Life Expectancy (b) Literacy

¢) GDP per capita (d) Per capita food consumption.
aﬂﬁﬁmmw%m%sﬁémﬁ' fanm famm 2

(a) Fies Aarear (b)

() yIt fenast #shit (d) qzﬁ fenarZt 37 Qusar

Who received the first Nobel Prize in Economics in 1969 ?

(a) Alfred Marshall (b) J.M. Keynes

(¢) Gunnar Myrdal (d) Jan Tinberjan

1969 &9 nigerTA=9 &9 ufowT &5% ugrag farns g?tga?a*ﬂ"r ?

(a) WHBSIZ HIAS (b) T

(© &7 iz (d) 7 fesgons
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48.

49.

50.

51.

52.

53'

54.

Who received the Nobel Prize in Economics in 1998 ?

(a) Gunnar Myrdal (b) AK. Sen

(¢) Joan Robinson (d) John Nash

1998 f&9 »gEAH3Y &9 3<% YIASTT fard YUz i3 At ¢

(a) T&Q HI® (b) &I AG

(c) 7 ITHEHS (d) ¥ 3F

Which is not a type of disequilibrium in the Balance of Payments ?

(a) Cyclical (b) Accidental”

(¢) Secular (d) Structural

393 A3ws & fxag nrzss o fea fami adt 9 7

(a) TS (b) fEsT

(c) fe=ga= (d) TIG3

Identify the types of tariffs:

(a) Import Duties (b) Export Duties

(c) Transit Duties (d) A1l of the above

fae dhor fardt ugTe

(a) NT3 B (b) fo3trs &x

(c) UIdHG BB (d) Budszs AT

Who used the term ‘macro’ for the first time in Economics ?

(a) J.M.Keynes (b) Ragner Frisch

(¢) Alfred Marshall (d) Pigou

nmaﬂmaaﬁ'a' ‘AAFS HEE ©F yUdl g 3 ufost far 3 3T A 7

(a) 7. . 6H (b) TIBI fem

(c) HIRS (@ dg

The Greek word ‘mikros’ means:

(a) Medium (b) Maximum

(¢) Small (d) Large

It FEe ‘mikros’ T NTE J

(a) HOH (b) wmftazH

(c) & d) <3

At point of satiety, marginal utility is :

(a) Zero- (b) Positive

(c) Maximum (d) Negative

ygasT 3 fig 3, AW SutiarsT 3:

(a) fagg (b) USSHA

(©) (d) foe=m

Who revolutionized the scope of Macro Economics ?

(a) Adam Smith (b) -J.B. Say

(c) J.M.Keynes (d) Alfred Marshall

FHEST WTHRTASS € 839 & faAd yds ufseass di3r ¢

(a) »i3H AfHE (b) .t ﬁ

(c) . WH. IBH - (d) 7BSIS HIAS
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55

56.

57,

8.

59.

60.

61.

Identify type(s) of budget deficit:

(a) Budget Deficit (b) Revenue Deficit
(¢) Fiscal Deficit (d) All of these
gric wWre @it famt ugre:
(a) TAC W (b)  MHES urer
(¢ fRStue @) fegrd

‘Call Money Market’ refers to:
(a) Short Period Loans. (b) Long Period Loans
(¢) Interest Free Loans (d) Micro Financing
Call Money Market 3 37 T :
(a) BU-THG fa= (b) Tow-aEts faz
(c) fenrs ofos fos (d) e
Who says “supply creates its own demand” ?
(a) J.M.Keynes (b) JB. Say

¢) A.K. Sen (d) R. Nurske

forar “yast nivyzt Har e fsgnrs g ager 37 7

(a) . WA, &7 (b) wH.ELH
(c) ®.d.F& (d) »r9. sIRA
Purchasing Power Parity Theory was propounded by:
(a) Heberler (b) J.S.Mill
(c) J.E.Meade (d) Gustav Cassell
ydte BEST miggusT & fHais U o3 faprr A
(a) TIIHT eATT (b) #. WA, fH® Enrar
(c) 7. iz omrer (d) dTHST AAB DTS
For Milton Friedman, Quantity Theory of Money deals with:

(a) Prices (b) Income

c) Supply of Money (d) Demand for Money

, HEd™ & H3T" fHUTZ Heus 9:

(a) oH3 &5 (b) WHES &%

(¢) HeT & Y3t % (d) HETT & Har 5%
What does RR imply in banking ?

(a) Required Reserves (b) Required Ratio

) Reserve Ratio (d): Reverse Ratio

fRORR ' geatged ?

(a) foamrfess farae (b) fIamrfess IR
(c) fouge 3/ (d) foegr Im

Devaluation implies:

(a) Issuing new currency

(b)  Appreciation of value of home currency

(c) Reduction in value of home currency in other country
(d) _Both (a) and (b)

NRH®E 3 9% J:

(a). & AT Hdt FIoT

(b) WIB HET T U® & =Ugar

(c) TAS IR 9w Hea © ¥ § werge

d) (@3 @)
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62.

63.

65.

66.

67.

68.

Complete the abbreviation of SLR:

(a) State Locality Reserve (b)
(c) Sundry Leverage Ratio (d)
SLR ¥ A&Y § uar &9

(a) AT Bafwdt foaae (b)
(c) ¥H3dt Stesw I/ (d)
What does BPO stand for ?

(a) Balance of Payment Outsourcing (b)-
(¢ Buymg and Processing Organisation (d)
BPOS atg= I ¢

Statutory Liquidity Ratio
Simple Liquidity Ratio

Aeuely dadfsdt 97
fAus sla<tfsdt 37

Business Process Outsourcing
Business Production Output

(a) EBH me UNZ mrBzRafHar (b) fowsr YAm nr@erafdar
(c) = niz YRfHar w@aﬂaﬁw (d) femBR ysaEs nfeye
Name the Governor of RBI;
(a) Raghuram Rajan (b) Y.V.Reddy
(c) Bimal Jalan (d) M.S. Ahluwalia
g d et ¥ JRTRT € 5TH OR
(a) JWTH THE (b) =T & 5
(c) o aess (d) WA MR MIBTEmT
Person cannot open an account in:
(a) Scheduled Commercial Banks (b) Rural Banks
(¢) Cooperative Banks (d) Reserve Bank of India
fEx fona=t ursr 5t 8% Axer 3
(a) IR TuSE Far &Y (b) Us Tt fg
(c) HAfoadt ¥ &9 (d) =33t fomoe 8 &9
Which rate is not determined by the RBI ?
(a) Interest Rate. (b) Repo Rate
(¢) SLD (d) Bank Rate
f&adt =9 RBI enror fsguras &t st At ¢
(a) fowmaeg (b) JUEg
(¢c) SLD d ¥geg
Monometallism means:
(a) Minimum Metal in Currency (b) Single Metal
(c) Multiple Metal (d) Maximum Metal
H HI g2 J
(a) YT ¥9 fsBasH u3 (b) fEaus
(c) sTU3 (d) nifta=y o=
Who put emphasis on deficit financing in budgeting ?
(a) Karl Marx (b) Adam Smith
(c) Alfred Marshall {d) J.M.Keynes
Fre g wre &t 3 feemer 3 famd 79 fozr /t ¢
(a) oIS HIAH (b) WS AfE
() MBI HIAS (d) .M. aH
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69. The concept of vicious circle of poverty is associated with:

(a) J. Schumpeter (b) Gunnar Myrdal

(c) A.K. Sen (d) Ragnar Frisch

It € JgaT € UdaT A3 J

(a) A BUeT &% (b) Je3 fHE® 5%

(c) B.d.H5 &S (d) T9E9 g &%
70. Negative Tax is called:

(a) Surcharge (b) Cess

(c) Gift (d) Subsidy

fae3Ha g9 FT8T J:

() TIHS (b) Buas

(c) 3IJe (d nmefAst

71. Underdeveloped countries have the problem of:
(a) Cyclical Unemployment
(b) Technical Unemployment
(c) Chronic Secular Long-term Unemployment
(d) Involuntary Unemployment
mwy feafiz orr e Anfir 3:
(a) YT SgwaTar B (b) Bl FgHITST
(¢c) BT drow-adis AftT Fgrardr (d) MoREEs dgwarat

72. Who introduced the concept of ‘marginal efficiency of capital’ ?

(a) J.M. Keynes (b) Gunnar Myrdal
(¢) AXK. Sen (d) John Nash
“Hegr &t Wz B3uessy o s fard fest At ¢
(a) T WH 5T (b) T&9 HES
(¢) 2.d.H& (d) 7 3H

73.  Who said “Economics is the science of wealth” ?
(a) A.XK. Sen (b) Karl Marx
(c) Adam Smith (d) J.K. Galbrith
foars faar At “rvearAsg us e fefomia 97 2
(a) ¥. & H& (h) TTS HIGH
(c) W3H AfHE (d) 7. d. Imafog

74. Mention the indicator(s) of poverty:
(a) Head-Count Index (b) Poverty-Gap Ratio
(c) Poverty-Square Gap Ratio (d) All of the above
Jratst € oot = €8 &9
(a) I3 Q2 FoMIR (b) aEt-feE wisus
(c) JtE g =da1 nigurs (d). BuIaz A

75. Which form of economy, India opted after the Independence ?
(a) Mixed Economy (b) Socialist Economy
(c) Capitalist Economy (d) _ Both (a) and (b)
H3393T 3 gmiE 3963 © nigafeenE € fags gu S SE st 9 7
(a) fimfgs neafeene (b) RHHTEr nTEfeTHET
(c) Yrte=! nigafesrEr (d) T (a) M3 (b)
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HISTORY
Abul Fazal was in the court of:

(a) Babur (b) Humayun
(c) Akbar (d) Jahangir
nig® ens fere Taurg feu At .

(a) =3 (b) IHY

(c) e, (d) wIENT
Aurangzeb died in:

(a) AD. 1706 (b) AD. 1707
(c) AD.1708 (d) AD.1709
wgamg Hfgn At

(a) AD. 1706 39 (b) AD.1707 fS%
(c) AD. 1708 <5 (d) AD. 1709 9
Haider Ali established authority in the area of:

(a) Mysore (b) Hyderabad
(c) Sindh (d) Bengal
JeT niwt 3 fer ¥39 T Yz afer 15t Al

(a) FHI (b) JeFEE
(c) fAT (d) =3
When did Vasco da Gama reach Calicut ?

(a) 1492 (b) 1496

(c) 1498 . (d) 1501

TTHA 3T ITHT ABIAZ S Ugfamir ¢

(a) 1492 (b) 1496

(c) 1498 d) 1501

Who was not associated with Battle of Plassey ?

(a) Mir Jafar (b) Mohan Lal
(¢) Mir Madan (d) Haider Ali
USTH € UU 5% o& HaU3 &dr At ?

(a) W9 weg (b) WI& TS
(c) MW HES (d)  IeT st
Which region experienced the Dual System of administration ?
(a) Assam (b) Punjab

(c) Bengal (d) Rajasthan
fom 839 & yams & Sodt ySrEt nigese &St 7

(a) WA (b) UA"

(c) HIS (d) TFEES .
When was the Permanent Settlement introduced in India ?
(@) 1757 (b) 1764

(c) 1773 (d 1793

393 &9 AEEt feeryr o€ H o=t aet ¢

(@ 1757 - (b) 1764

(c) 1773 (d) 1793
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10.

11.

12.

13..

14.

Mangal Pande revolted at:

(a) Meerut (b) Barrackpur,

(c) Pune (d) Delhi

Has Ui 3 Fares o=t At - .

(a) NIs fey (b) FIaug fey

(c) v feu (d) f&st fen

The Revolt at Meerut began on:

(a) May 8, 1856 (b) May 10, 1857
(c) May 12,1857 (d) May 13, 1857
H95 € Hares »rdg It A

(a) 8 HEt 1856 & (b) 10 HET 1857 &
(c) 12+ 18573 (d) 13 Mt 18573
Lord Henry Lawrence died in the Residency at:

(a) Agra (b) Delhi

(¢) Lucknow (d) Gwalior

93 Jadt FIA AIT faarfer &9 Hignr At :

(a) v fey (b) & feu

(c) ®ual feu (d) I=HT fey
The Universities of Calcutta, Bombay and Madras were established in the year:
(a) 1856 (b) 1857

(c) 1858 (d) 1859

IBA3T, 9T, HEIH Tatedfiet fer s marus 3t /s
(a) 1856 (b) 1857

(c) 1858 d) 1859

The first session of the Indian National Congress was held at:
(a) Bombay (b) Madras

(c) Calcutta (d) Delhi

g3t ITHS! Figrgn B Ufae Fes Jfenr At

(a) Ha=tfey. (b) H=IH fey

(c) a3 feu (d). fot feu

The third session of the Indian National Congress was held at:
(a) Calcutta (b) Madras

(c) Lahore (d) Allahabad
3T ITHETT AfaTgR T IS B Jfen At

(a) IBA3 fey (b) HZIH feu

(c) ®Jgfen (d) rEoEe fey
Identify the moderate leader of the Indian National Congress:
(@) B.G.Tilak (b) Aurobindo Ghosh
(c)- Bipin Chandra Pal (d)- Dadabhai Naoroji
93t ITHSIT ATAGH T I Trmrdshnr Sisg & ufges a9 -
(a) &t . f3ea (b) vigfae um

(c) fufus Sea us (d) TergEr araHr
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15.

16.

17.

18.

19.

20.

21.

Identify the leader of the Ghadar Party:

(a) Rabindranath Tagore (b) Lala Lajpat Rai

(¢) Kartar Singh Sarabha (d) Hasrat Mohani

ared urdet ¥ #i39 & ufgerE a9

(a) dIf¥egss S99 (b) T FTAUI TE

(c) o379 AW AIZT (d) TAIS HT®I

The Komagata Maru was:

(a) British Ship (b) Japanese Ship

(¢) Canadian Ship (d) Indian Ship

SATHETET H'g H

(a) fafem miedt mom (b) TS MiEdt AOH

(c) BT AdeEdt A (d) I3t AHTST Ao

Who was not associated with the Jallianwala Bagh Massacre ?

(a) General Dyer (b) Saifuddin Kitchlew

(c) Dr Satypal (d) Sardar Ajit Singh
9 IIBNTH 5 J& &dt gfamT At 2

(a) 7BIS Ffeg (b) ﬁazﬁa foms

(c) 3 H3US (d) FIET v fity

The Dandi March is known as:

(a) Salt Satyagraha (b) Rowlett Satyagraha

(c) Anti-Simon Programme (d). Zamindari Abolition Programme

33T Hrgw mfenT Ater 3

(a) m#%warﬁyééa‘% (b) di@e Afnmfo T 39 ‘3

(c) FEHG fedut aoH T 393 (d) wieid usH YagH @ 393

When was Bhagat Singh hanged ?

(a) 1927 (b) 1928

(c) 1931 (d) 1932

(a) 1927 (b) 1928

(¢) 1931 d) 1932

In 1942, Mahatma Gandhi was arrested on:

(a) 7™ August (b) 9" August

(c) 11™ August (d) 13™ August

1942, &9 Ho=wr it § fargesT sftzr fomrr A

(a) 7 WEWASJ (b) 9 IS )

(©) 11 »@mz § (d) 13 »AA3 &

Who succeeded Lord Wavell as the Viceroy in India ?

(a) Lord C. Attlee (b) Lord S. Cripps \

(¢)  Winston.Churchill (d) Lord Louis Mountbatten

3793 <9 TEATE ¢ 39 ‘3 H95 B o G3Tfuardt = A ¢

(a) TS AL M= (b) I3 mA. fqur

(c) feoRes Tafem (d) »9s Bfer wEHes
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22.

23.

24.

25.

26.

27.

28.

Who was the last Premier of Punjab before the Partition ?

(a) Sikander Hayat Khan (b) Khizer Hayat Khan

(¢) Liaquat Ali Khan (d) Sardar Baldev Singh

3 3 ufost Uag T ningdt yos dE A ¢

(a) THalEd TU3 U (b) foma IE3 u®s _

(c) fonraz nidt s (d) FITT g&ee fu

Who was the Prime Minster of England on the eve of Indian Independence ?

(a) Winston Churchill (b) Stafford Cripps

(c) Clement Attlee (d) Harold Wilson

ot F3393T AN @3 T yus H3IT 3 AT 7

(a) fezres gafes (b) AIeTS fqun

(c) OHACM3H ) T3 femrs

Which country is considered the home of Renaissance ?

(@) Germany (b) Italy

(c) France (d) Switzerland

fam TR & yag At & w9 Hienr Aier 3 7

(a) TS (b) feest

() (d) AfecTods

Mona Lisa is the creation of:

(a) Leonardo da Vinci (b) Michelangelo

(c) Machiavelli (d) Raphael

We' ferr gosr U

(a) foBxas v fesrt &t (b) fHasfos &

(c) Homest &t (d) TeBt

Where is the seat of Pope situated ?

(a) Rome (b) Vienna

(c) Paris (d) Florentine

Yu &t e fog rfaz 3 2

(a) IH (b) e

(c) ufem (d), cBIsCES

Martin Luther belonged to:

(a) Catholicism (b) Protestantism

(c) Anglicanism (d) None of the above
Bug AEU At

(a) OEBX HI 55 (b) Y2HSZ HZ &'

(c) WISl H3 &% (d) Budas ast &t

When did the USA militarily join the World War [ ?

(@) 1914 (b) 1915

(c) 1916 (dy 1917

nHdtatt fissedt ufos feme oo e ae wris agt At 2

(a) 1914 (b) 1915

() 1916 (d 1917
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29. Who was the President of the USA during the World War II ?

(a) Theodore Roosevelt (b) Woodrow Wilson
(¢) F.DRoosevelt (d) J.F Kennedy
TRY feRe-Uu 395 nindiar = IHeauSt &= AT 7
(a) T30 gFeme (b) T39 fewrs
(c) " F. IR (d) 7.0 I3t
30. Which country suffered defeat in the World War I ?
(a) France (b) Russia
(¢) Germany (d) Spain
ufgs fereyy 99 f&o3 TR & T9 T ArovET a9s fumm At 9
(@ T# (b) gH
(c) FIHa (d) P&
31. Who was the Prime Minister of England on the eve of World War II ?
(a) Neville Chamberlain (b) Winston Churchill
(c) Clement Attlee (d) = Louis Mountbatten
oA fene oo Al féads & yus ¥i3dt o= At 7
(a) aifes Suafes (b) feares gafom
(c) TABHZ w3FH (d) Sfer H@xcaes
32. Who was the Prime Minister of England during the critical phase of World War II ?
(a) Clement Attlee (b)  Winston Churchill
(¢c) Harold Wilson (d S. Cripps
oAd fere WU @ aRa ugmi 991s 88 s e yurs ¥isdt de /2
(a) TBHE =St (b) feares gafes
(¢c) TI8 femrs (d) »m. fgqur
83) Who was the Chancellor of Germany during the World War IT ?
(a) Hindenburg (b) A. Hitler
(¢) General Rommel (d) B.Mussolini
THY feme o €9 FoHat € 9tA®T aE AT ¢
(a) fdswgaga (b) faema
(c) IS IHS (d) =t yAfast
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34.

35,

36.

37.

38.

39.

40.

Which name the Greeks attributed to the Punjab ?

(a) Panjnaad (b) Saptsindhva

(c) Pentopotemia (d) Punjab

affet % e & fagar s fegr At ¢

(a) Umse (b) Fu3fiue

(¢) VU d) YA™

The Punjab is situated in:

(a) The Ganga Basin (b) The Indus Basin
(c) The Kaveri Basin (d) None of these
UAg :

(a) drar ¥fFs K9 (b) fe3m &ffs f<e

(c) oredt &firs e (@) feas &5 It &t
‘The city of Lahore is situated on the banks of river:

(a) Beas (b) Ravi

(¢) Chenab (d) Jhelum

=g mfge foro3 efgnr @ dfenr 3 AfES J:

(a) foiH (b) T

(c) d&H= (d) framH

Who succeeded Guru Nanak Dev ?

(a) Guru Amar Das (b) Guru Ram Das

(c) Guru Angad Dev (d) Guru Arjan Dev
I9 &5 T T gzarfoerat o AT 7

(a) I "HT TH (b) IJIIHEH

(c) g ride &< (d) TI IS T
Mention the earlier name(s) of Amritsar:

(a) Guru Ka Chak (b) Chak Ram Dass

(c) Ramdass Pura (d) All of the above
Wif AT = ufger & R

(a) TI I T (b) T THEH

(c) THEH YT (d) Budaz A

Which city is associated with the birth of Guru Gobind Singh ?

(a) Paonta Sahib (b) Patna Sahib

(¢) Gaya (d) Hargobindpur
@gﬁfﬁ?ﬁu%ﬂmmmmﬁﬁﬁéﬁ% ?

(a) uger AiaE (b) ues FArfaE

(c) G (d) JIdTHEYd

Who was Baba Binod Singh ?

(a) - Follower of Guru Teg Bahadur (b) One of the Panj Piaras
(c¢) Sardar of Sirhind (d) An associate of Baba Banda Singh Bahadur
g fase fiw = At 2

(a) TG 3ATEIT YT () U fimifanr &9 fEx
(c) FIfdE T AIET () = fifw goves T fex Afatait
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41.

42.

43.

44.

45.

46.

47.

When was Baba Banda Singh Bahadur executed ?

(a) March 1716 (b) April 1716

(c) Mayl716 (d) Junel716

(a) W99 1716 (b) B 1716

() HET 1716 (@ T&1716

Where was Baba Banda Singh Bahadur executed ?

(a) Lahore (b) Sirhind

(¢) Delhi (d) Multan

grer der iy goes § fam mdtet yus aft 7

(a) ®&J9 (b) mIfFe

(c) fEst (d) H®IS

Which missal Nawab Kapur Singh belonged to ?

(a) Fyzullapuria (b) Nishanwalia

(¢) Nakai (d) Dallewalia

&g ayq fiw faadt fims &% Ada Juer A 2

(a) SEBUIT (b) foraeshmr

(c) &=t (d) SHTEBMr

Who belonged to the Sukarchakia Misal ?

(a) Baba Deep Singh (b) Jassa Singh Ahluwalia
(¢) Diawnkaura Mal (d) Maharaja Ranjit Singh
Haogon fHA® &% d& YU Juer AF 2

(@) & Sy (b) A AW nroseTSinr
(c) €T AFT HS (d) HITF FEAS
When was the city of Lahore occupied ?

(a) 1765 (b) 1799

(¢c) 1805 (d) 1809

&dg mfag ‘3 & FaA A3 famrr 2

(a) 1765 (b) 1799

(c) 1805 (d) 1809

When did Maharaja Ranjit Singh occupy Multan ?

(a) 1816 (b) 1817

(c) 1818 (d) 1819

HITH e AW & HB3™S ‘3 e g atsT 7

(a) 1816 (b) 1817

(c) 1818 (d) 1819

Maharaja Ranjit Singh died in the month of:

(a) June 1839« (b) July 1839

(c) August 1839 (d) September 1839
Hogr gaAs fiw e 2oi3 far Hats dfenr:

(a) T& 1839 (b) THE 1839

(c) PAFS 1839 (d) F3=T 1839
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48. The First Anglo-Sikh War took place during:

(a) 1844-45 (b) 1845-46
(c) 1846-47 (d) 1848-49
ufgsr wias iy oo for Sas Jfonr:
(a) 1844-45 (b) 1845-46
(c) 1846-47 (d) 1848-49
49. Who was the British Resident in the Lahore durbar ?
(a) Henry Hardinge (b) Henry Lawrence
(c) John Lawrence (d) Charles Napier
99 T9gg feu fgferm aw yfsfadt = At ¢
(a) J&at aafsA (b) I&I HIH
(c) 7&&IA (d) UIBA BUT
50. Who was the Governor General of India in 1849 ?
(a) Lord Ellenborough (b) Lord Hardinge
(¢) Lord Dalhousie (d) Lord John Lawrence
1849 139 9793 T 19959 AISS A At ¢
(a) WIS NBEAT (b) 93 TIEA
(c) ®I3 BTG (d) T3 75 FIA
51. The city Mohenjodaro is situated in the province of
(a) Punjab (b) Gujarat
(¢) Baluchistan (d) Sindh
Haares "fgg feryiz R Afaz 3 2
(a) UFd (b) I
(c) uBfeRss @ fAg
52. The Harappa Culture belonged to
(a) Stone Age (b) Bronze Age
(c) Iron Age (d) None of these
Iy AfgnE HEUs 9 9
(a) YT G5B (b) I Hdl FH
(c) &I Gd I (d) fegsr &5 oSt st
53. The city of Harappa is situated on the banks of river:
(a) Ravi (b) Beas
(c) Satlyj - (d) Sindh
J3ur mfgad fer &<t € dv AfEs J: |
(a) Tt (b) fam
(c) W& (@) fAg
54. Which god is the most important in the Rig Veda ?
(a) Indra (b) Varuna
(c) Agni (d) Aditi
far 2T feo ooz sa=s Ag 3 Hoseyas U 2
(a) f&eg (b) =TT
(c) wiast (@) rifest
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SS.

56.

S7.

58.

59.

60.

61.

Which city is associated with the Great Bath ?

(a) Harappa (b) Dholavira

(¢)  Kalibangan (d) Mohenjodaro »

At A& &7 g mfog Az Y

(a) Ty (b) e

(c) aHEars (d) HIsHE

What does the term asva mean ?

(a) Bull (b) Horse

(¢) Cow (d) Elephant

"WER’ HEe 3 ot g -

(a) ¥m (b) uzr

(¢) ar (d) grEt

Which of the Jain sect put on white dress ?

(a) Digambaras (b) Svetambaras

(¢) Brahamanas ) Both (a) and (b)
e Augerfe AT Ura ufser 3 ¢

(a) - Tlargg (b) Ae3tey i

() FIHEA d) (a) m3 (b) T

Who is considered the 24" Tirthankara of Jainism ?

(a) Parsvanatha (b) Rishabhdeva

(c) Mahavira (d) Gautama

15 U9H & 243 Sragigrgr foms ¥ifemrr faporr

(a) YgIFT &g (b) ﬁma%e

() Hoehg (d) =M

Which language contributed to the spread of Buddhism ?

(a) Prakrit (b) Sanskrit

(c) Bra_l (d) Pali

40 TOH © <o g faast s 3 tiarers yrfemr ¢

(a ugfas b) FARf3

(¢) g7 d) ybt

Who recommended Ashtangika Marg ?

(a) Lord Buddha (b) Lord Mahavira

(¢) Rishi Vishwamitra (d)  Rishi Valmik

MRSTIET Hraar & fireram foms ot ¢

(a) TS FT (b) 3RS HIT

(c) forft femefizg (d) fort e

Identify Mahajanapada(s): :

(a) Magadha (b) Kosala

(c) Vatsa (d) All of these

HIWBUTST &t ufgers a9

(a) Hamg (b) FAE

() =3Am d) fegry
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62.

63.

65.

67.

68.

Name the founder of the Mauryan dynasty:

(a) Samudragupta (b) Vishakhadatta

(c) Chandragupta (d) Ashoka

HItTr ITER T ¥ YAa9sT @ & TR

(a) FHETIUS (b) fepmes

(c) T3 (d) n»Ex

Who is associated with the name of Piyadassi ?

(a) Ashoka (b) Panini

(c) Kautilya (d) Chandragupta Maurya
€ 5H &% 3 AYUS J 7

(a) MER (b) uStat

(c) Afemar (d) TeIIUI Hotwr

Who wrote Arthashastra ?

(a) Kalidas (b) Kautilya

(c) Magasthenes (d) Vishakhadatta

‘mIEHAST’ fan fadt ¢

(a) THEH (b) dfemar

(c) HIFES (d) feryws

The Gupta Empire witnessed the watermark in the reign of:

(a) Chandragupta | (b) Samudragupta

(¢) Skandgupta (d) Chandragupta II

IU3 AHTH & fere Arsas g mud fifs 23 ms:

(a) BEE'@‘]’LB I (b) ﬂ'!jEBEHLB

(c) AU (d) STIus Il

- Who was Pushyamitra Sunga ?

(a) He fought the Kalinga War (b) An Astronomer

(¢) He dmtmycd the Mauryan Empire (d) A Chinese traveller
URGTTHIT Har o AT ?

() SReERBATUTBIrA (b)) o uas fefamrd
(c) R Fidinis mem & feam iz Fid) e et ot

Name the famous Sanskrit grammarian during the Gupta period:

(a) Kalidasa (b) Panini

(c) Aryabhatta (d) H:eun Tsang
U3 IS T96 yifa ARfES fenramassT o &1 &7

(a) TBEH (b) w?ﬁ?-?r

(c) wrdtor g (d) Ims Har
Hieun Tsang visited India during the reign of:

(a) Ashoka (b) Chandragupta II
(c) Harshvardhana (d) Pulakesin 11
S Hal 3 fEre IHG® 99% 3793 o o9T ai3T At

(a) »AI (b) TEguz 1l
() TINEIUG (d) UBIHE 11
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69.

70.

71.

72.

73.

74.

3.

Who wrote Harashcharita ?

(a) Kalidasa
(c) Pulakesin

JorufasT fams fadt At 2

(a) THEH
(c) YUSTHS

The Agnikula legend is associated with:

(@) The Kushans
(c) The Sakas

Widlla® ee qE" AEu3 J

(a) THE D
() A< &H

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

Harashvardhana
Banabhatta

JIHSIUS
gEde

The Rajputs
The Aryans

TS T,
IEs &

Qutab-ud-din Aibak died while playing the game of:

(a) Chaugan (Polo)
(c) Archery

F35ets Max fEg U3 ¥z Hign At

(a) €IS (UB)
(c) Iig et

What was the Chahalgani ?

(a) A Cess

(c) Religious Grant
IISIBE ot At 2

(a) f&x Buom

(c) uUafHx e

Who was Ziauddin Barni ?

(a) General
(c) Traveller

Hwhr8e-Tts gIat d& At 7

(a) 7IOB
() w3dt

What was the pargana under Sher Shah Suri ?
(a) Administrative Unit
(c) Dharmarth Grant

HY H'J BT »idts ugdwT ot At 72

(a) YAASH fearst

(¢) UdHmiTH Jie

Ibn Batuta lived in the court of:
(a) Allauddin Khalji

(c) Feroze Tughlaq

fegs geger fere wagrg &g ofjer At:

(a) NHEE® yHH
(c) feow 3am=x

(b)
(d)

(b)
(d)
(b)
(d)
(b)
(d)
(b)
(d)
(b)
(d)
(b)
(d)
(b)
(d)
(b)
(d)

(b)
(d)
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Chess
Hunting

[a)

H399
faarg

A Game
Turkish Aristocracy

fox us
3Ja] ABB3I3T

Historian
Sultan

fefzomarg
A%3S

Revenue Unit
Cess

mrHes fearst
Buag

-

Muhammad bin Tughlaq

Ibrahim Lodhi

HoHe 85 3ama
fegarfon &t

(Social Studies)



